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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500 —o— ECO
4000 -
3500
3000 -

2500

2000 A
Warning: col [1FVOEC'] is missing

1500 ~

0 10 20 30 40 50 60



Plot [['PHC:b—0’,

"FVIPH

ir—o’', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

ol [JPHC', "FVIPH'] is missing

10 20

40

50

60
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Trend plot forP3-2_0
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13:10 278 130.0 =l {Rige13:10 B3 (RAERSE)
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# 8] /KECZE (2370. 0 vs 3503.0) s
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Warning: lcol ["WC1',  "WC2'] missing

02

3000

- 2000

- 1000

FRV (ml d-1)

TargetEC=2600. 0,  TargetSetEC=2080. 0
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Warning: lcol ['PHB’,| 'PHC’'] missing

00 A

0 -
00 1

Bylni

@D60 01:43: ET=1253 Fg=1500.0 Ro=325.0

P, o e

@ ®
P

Vs
1 2 3 4 5 6 7 8 9

10

11

12

13

2000

- 1500

- 1000

cumET (ml/plant)

- 500

14 15 16 17 18 19 20 21 22 23

2000

i

B5 | B | BB | A5 | BB [R5 | B [ A5 | B

E3
B

ES
5]

=
B

E3
B

E3 ES = E3 E3 ES = E3 E3

ES
5]

00 A

00 A

0 -
00 1

ByEt @D58 19:10: ET=1103 Fg=1500.0 Ro=nan

L 4
PN

3 4 5 6 7 8 9

10

11

12

13

- 1500

- 1000

- 500

cumET (ml/plant)

14 15 16 17 18 19 20 21 22 23

2000

Bs | B | BB | A5 | BB [R5 | BB [ A5 | BB

%=

ES
5]

=
B

E3
B

ES
5]

00 A

00 A

0 1

]
ByWoFv @D60 01:43: ET=802 Fg=910.0 Ro=161.0

——8—8—8—8 8§

-
|
|

- 1500

- 1000

cumET (ml/plant)

- 500

10

11

12

13

14 15 16 17 18 19 20 21 22 23

%=

ES
5]

=
B

E3
B

5 | A5 | A5 | A5 || AM| A |ZFE |55

ES
5]

[ ] | _obs

—@— PPFD obs

40 ~

RH
RH_obs
RHo _obs




m=470, FV0=0 m=510, FV0=0 m=573, FV0=0
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P3-2

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:10 278 150.0 5| {Ri%@07:10 Bz (FRAERSE)
08:05 278 150.0 = {RRiB008:05 B (FRFAEEE)
09:25 278 150.0 = RRiB009:25 B (REAEEE)
10:25 278 150.0 El BRi&010:25 Bz CGRAEREE)
11:20 278 150.0 =l {Rige11:20 B3 (RAERSE)
12:15 278 150.0 =l RRiBe12:15 Bz (REAKEE)
13:05 278 150. 0 F BRige13:05 Bz (GRAERERE)
13:55 278 150.0 E BRige13:55 Bz (GRAERSE)
14:50 278 150.0 =] Ri%e14:50 Bz (REAERESE)
15:50 278 150.0 E BRi%e15:50 Bz (GRAERSE)
21t 2780.0 (10)%) 1500. 0 EWHKEC: 2080.0, PH: 5.6

FHERECE (2323.0 vs 3340.0) RS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-2_0, Day=57 (2025-05-25)
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Warning: lcol [FVI',| "FVO’'] missing

200 A

150 -

100 -

50 A

1.0
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32.5 A 32.5 36 -
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32.0 35 1
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34 4
31.0 A 31.5 -
T T T 30. 5 - T T T T T T T T T
600 800 1000 455 460 465 500 505 510 560 565 570
m=605,m FV0=0 m=645,m FV0=0 m=685,m FV0=0 m=720,m FV0=0
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T T T 35 5 T T T 35 5 T T T T T T T T
605 610 615 645 650 655 685 690 695 726 728 730 732 734
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P3-2

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK R

08:45 273 150. 0 E| {Rig&e08:45 Bah (RFE{ERLEE)
09:35 273 150.0 & 1RiRe09:35 B (KREAERE)
10:25 273 150.0 F BRi%e10:25 Bz (GRAERESE)
11:15 273 150.0 S {Ri%e11:15 Bz (GRAERSE)
12:05 273 150.0 =l RRiB012:05 B (REAKEE)
12:55 273 150.0 | 1Rike12:55 B (REAERS)
13:45 273 150. 0 5| 1Ri%e13:45 B CGREMEREE)
14:40 273 150.0 5| Rike14:40 Bz (GREERS)
15:50 273 150.0 E BRi&e15:50 Bz (GRAERSE)
21t 2457.0 (90%) 1350.0 3 WHKEC: 2080.0, PH: 5.6

FHERECE (2223.0 vs 3230.0) RS
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=56 (2025-05-24)
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m=465, FV0=0 m=495, FV0=0 m=5395, FV0=0
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